The Illinois Open 2003: Transfigured Spite

Toss-ups by Berkeley and Friends (Dwight Wynne, Charles Meigs, Ray Luo, Steve Kaplan, and Seth Teitler)

1. It argues that in metaphysics, an indeterminable number of universes interfuse. Its author also published a dozen volumes of American history to state facts that "seemed sure in a necessary sequence of human movements." Langley showed him the X-ray, while St. Gaudens showed him Amiens, but neither can explain those greatest forces of the Western world with which the author struggles to comprehend. For ten points, name the title symbols of scientific and occult human progress contained in The Education of Henry Adams.

Answer: The Dynamo and the Virgin; (prompt on The Education of Henry Adams before mentioned)

2. The original theme of the Scherzo of this work was found in the Dictionnaire de la musique under Chinese Music. The Andantino was originally a piano duet and the Finale is a majestic march. Based on music written for a ballet commissioned by Massine, it begins with a Viennese march interrupted by the Turandot Overture. Written by a German political refugee in America, it became the greatest set of variations in twentieth century music. For ten points, name this Paul Hindemith translation of the music by the composer of Der Freischutz.

Answer: Symphonic Metamorphosis of Themes by Carl Maria von Weber
3. One hero managed to capture this creature, which belched scorching flames, by lassoing it after chasing it until it weakened, then rode it across the sea to Mycenae. It was dedicated to Hera, who refused the offering, made its way to the plains of Marathon, and was eventually captured and sacrificed to Athena by Theseus. The inventor Dedalus created a hollow, female counterpart for it to satisfy an unnatural lust. For ten points, name this creature, the capture of which was the object of Hercules' seventh labor, and which in most stories impregnated Pasiphae to sire the Minotaur.

Answer: Cretan bull (prompt on Marathonian bull)

4. The F1 subunit can run in reverse using energy generated by this process as described by Peter Mitchell's chemiosmotic model. The first molecule's prosthetic group is flavin mononucleotide, and the only non-protein is ubiquinone. The toxicity of the cyanide ion results from its ability to interrupt this process by blocking passage from cytochrome a3 to oxygen. The namesake input particles are typically provided by FADH2 and NADH. For ten points, name this final step in aerobic respiration, which sets up a chemical and electrical gradient across the mitochondrial membrane.

Answer: electron transport chain (accept electron transfer chain)

5. The protagonist of this film hatches the idea for his final crime during a performance of Schubert's Unfinished Symphony at the Hollywood Bowl, on a date with Lola.  Enticed by honeysuckle perfume, he cannot get off the trolley ride until the end of the line where the cemetery is.  Cutting it straight down the line with Phyllis, Walter lights cigars for Keyes until the very end.  For ten points, name this Billy Wilder film-noir in which an insurance salesman confesses.

Answer: Double Indemnity
6. Successor of Alexander the Molossian, among his last campaigns was one to restore Cleomynus to power in Sparta. He also botched an occupation of Sicily, infuriating the Greek Sicilians, and forcing him to return to Italy. He was famously killed at Argos, supposedly by a roof tile thrown at him by an old woman, but his most enduring fame comes from battles fought at the request of the Greek city-state of Tarentum. FTP, name this victor at Apulia, a king of Epirus noted for his ability to win many battles that achieved little in the long run.

Answer: Pyrrhus I of Epirus

7. A strong opponent of the Constitution, this man debated Alexander Hamilton in the press, signing his letters with the pen name Cato.  Under his state’s new constitution he was elected governor in 1777 and served continuously through 1795 when he declined to run, allowing Chief Justice Jay to win the office.  In 1800 he returned to the governorship in a Republican sweep.  For ten points, name this New Yorker who also served two terms as Vice President under Jefferson and Madison.

Answer: George Clinton
8. Covering a period including the battles of Megiddo and Carchemish, this book is named for the son of Hilkiah, a priest from Anathoth.  Claiming that “I do not how to speak, for I am only a youth”, the author foresees that the Chaldeans will return, take Jerusalem, and burn it with fire. Earlier, the author bewails the death of the pious king Josiah, and the second part’s oracles were preserved by its namesake's secretary, Baruch. For ten points, name this book of the Bible, a collection of oracles from a prophet who saw the beginning of the Babylonian Captivity.

Answer: Jeremiah

9. A minimal one of these can be found in quadratic time by applying the Myhill-Nerode Theorem.  First applied to pattern recognition, the nondeterministic version accepts the same set of languages, which are regular if they are accepted by one of these.  For ten points, name this simple automaton that can only be in a limited number of possible configurations.

Answer: Finite State Automaton; or Finite State Machine; or FSA; or FA

10. At this man’s election in 1955, Colonel Edward Lansdale provided the idea that this man would be represented by red ballot papers, a symbol of good luck, and the opponent, the old monarch, would be represented by unlucky green. This man, having taken in 98% of the vote, soon proved to be less than the Americans had hoped for, and an American-backed coup overthrew him eight years later. FTP, name this devout Roman Catholic perhaps best known for his persecutions of Buddhist monks in the months before his ouster, the leader of South Vietnam from 1955 to 1963.

Answer: Ngo Dinh Diem
11. The Nordtvedt effect is a gravitational analog of this effect, while the Autler-Townes effect is another name for the AC version of this effect. Named for a Nazi physicist who tried to discredit Einstein's theories, it can produce an asymmetric pattern of lines, distinguishing it from its magnetic analog. Often used in analyzing molecular rotation spectra, FTP name this analog of the Zeeman effect in which an electric field causes spectral line splitting.

Answer: Stark or electrochromic effect
12. Events of this war included president Prado being deposed in favor of president Fernandez de la Pierola and president Hilarion Daza for Uladislao Silva. Minor battles included Chorillos and Miraflores, and at Angamos, the capture of the Huascar led to the destruction of the Peruvian fleet. Originally fought over control over the Bolivian province of Atacama, for ten points, name this conflict, resolved by the treaties of Ancon and Valparaiso, which saw Peru cede Tarapaca and Chile gain control of the Atacama desert.

Answer: War of the Pacific
13. This woman sang over the end credits for the 1990 Dan Akroyd and Gene Hackman film Loose Cannons.  During her early career, she sang backup for such diverse acts as Gene Simmons and Bette Midler.  Recently, she has done voice work as Flo Spinelli on “Recess” and Leela on “Futurama.”  For ten points name the actress who played Cate Hennessy on “Eight Simple Rules” and Peg Bundy on “Married… with Children.”

Answer: Katey Sagal
14. One of the title characters reminisces about realizing her husband's infidelity, then carrying on an affair with a groom. Her son, the only character besides the title characters, catches her in the act and disappears from her life for over twenty years. The youngest of the title characters finds out she will marry a little one-eyed man who resembles a penguin in two years, and break her back in sixteen years. For ten points, name this Edward Albee play in which the title characters, A, B, and C, realize they love short men, and are in fact the same lady at different ages.

Answer: Three Tall Women
15. In the wake of this monarch’s death, thirteen people claimed the throne, which was in the end awarded to John Balliol. Only three years old upon inheriting the crown, Parliament appointed six guardians to rule the country on behalf of this person. The daughter of King Eric II of Norway, by the terms of the treaty of Birgham, she was to marry the son of Edward I of England. Finally setting sail to her dominion four years after the death of her grandfather, Alexander III, she took ill on the voyage and subsequently died. For ten points, name this shortly-reigning queen of Scotland.

Answer: Margaret of Scotland, The Maid of Norway

16. Anachronisms in this work include Cymosco's use of cannons in book four and the presence of Constantine the Great in the last three books. A mortal tames a hippogriff with the help of the good fairy Logistilla, sister of Alcina. While traveling in Elijah's chariot to the moon Astolpho manages to collect the title character's wits. Continued in Lope de Vega's epic poem La Hermosura de Angélica, for ten points, name this epic in which a French paladin goes on a rampage after losing Angelica, written by Ludovico Ariosto.

Answer: Orlando Furioso
17. Its highest peak, Mount Triglav, rises to 9,393 feet, and it is approximately the same size as Massachusetts.  Part of its southern border is formed by the Kupa River, and the Sava runs through the center of the country.  Its principal ports of Izola, Piran, and Koper are located in the northern Adriatic Sea on the Gulf of Trieste.  It is bordered by Italy on the west, Austria to the north, Hungary on the east, and Croatia on the south.  For ten points, name this country that broke from Yugoslavia in 1991, with capital at Ljubljana [LOO-blee-AH-nuh].

Answer: Slovenia
18. Chaos surrounding it began with a military coup that installed Yakubu Gowon as head of the Federal Military Government. Pressure then arose in the East to assert greater regional autonomy in defiance of the FMG. The compromise Aburi agreement failed to placate the military governor of the East, Colonel Odumegwu Ojukwu, who declared his region an independent republic, although it later surrendered when Ojukwu fled to the Ivory Coast in 1970. For ten points, give the name of the short-lived, Ibo-dominated republic that seceded from Nigeria in 1967.

Ans. Biafra (accept early Biafran Secession or equivalents, prompt on early Nigeria)

19. It can be derived from the dashed-wedged line picture by turning the molecule out of the plane of the page and viewing it along the carbon-carbon axis. Invented by an Ohio State professor to analyze potential energies of rotamers, in this depiction the front carbon obscures the back carbon, and bonds emerge from both at an angle drawn perpendicular to a circle, making steric interactions among substituents evident and demonstrating energy differences among staggered, eclipsed, and gauche conformations.  For ten points, name this notation used in chemical conformational analysis.

Answer: Newman projection
20. The first character to appear on stage is a nurse, who chants antiphonally with a chorus of Corinthian women and expresses fear at the title character's wrath. The title character strikes a deal with Aegeus, tricks the daughters of Pelias into killing him, and then sends a poisoned robe and chaplet which kill the princess and king of Corinth, Creusa and Creon respectively. In the end the title character appears in a chariot drawn by dragons with the corpses of her children.  The daughter of King Aeetes, for ten points, name this title character of a Euripides play whose first husband was Jason.

Answer: Medea
Overtime. Any map of this type from a space X to a compact Hausdorff space C extends uniquely to a map of this type from the Stone-Cech compactification of X to C, and all functions from a space with the discrete topology trivially have this property. Functions with this property preserve adherence, or equivalently, the pre-images of closed sets are closed sets. For ten points, name this property that, for functions from R to R, implies that the graph can be drawn without lifting pencil from paper.

Answer: continuity
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1. Answer the following on the Hamiltonian in physics, for ten points each.

1. This equation may be succinctly stated the “Hamiltonian operating on the statefunction is equal to the product of an allowed energy of the system and the statefunction.”

Answer: Schrödinger equation (prompt on “Schrödinger”)

2. This theorem states that a system has an average energy of 1/2 kT for each quadratic term in its Hamiltonian.

Answer: equipartition theorem
3. The classical Hamiltonian is the Legendre transform of this other function, which can be used to reformulate mechanics based on Hamilton’s principle.

Answer: Lagrangian

2. Identify these sculptures for ten points each.

1. Commissioned to commemorate an event from the Hundred Years’ War it depicts six volunteers marching to their deaths.

Answer: The Burghers of Calais
2. This Donatello sculpture executed in wood depicts an emaciated saint wrapped in an animal skin.

Answer: Penitent Magdalene (accept near-equivalents)

3. This Pierre Puget work depicts a renowned ancient wrestler as he is attacked by animals while his hand is stuck in a tree stump.

Answer: Milo of Crotona
3. Identify the battles from the War of 1812 for ten points each.

1. In this January 12, 1813 battle, a combined British and native force under Henry Proctor slaughtered most of an American force near modern day Monroe, Michigan.


Answer: Battle of the River Raisin (accept Battle of Frenchtown)

2. William Henry Harrison routed Proctor at this October 5, 1813 engagement in Southwest Ontario. Tecumseh was among the dead.


Answer: Battle of the (River) Thames
3. This July 25, 1814 battle near Niagara Falls was, unfortunately, the bloodiest battle ever on Canadian soil. Although technically an American victory, it marked the end of U.S. incursions into Canada.


Answer: Battle of Lundy’s Lane
4. Identify the following from a topic in graph theory, 5-5-10-10.

1. (5 points) This is a path in a graph that begins and ends at the same node.

Answer: cycle (accept circuit)

2. (5 points) An edge between non-neighbors in a cycle.

Answer: chord
3. (10 points) A graph that has no cordless cycles of length greater than or equal 4, or equivalently, the reconstituted graph of a fully eliminated graph.

Answer: triangulated graph; or decomposable graph

4. (10 points) A tree of cliques has this property if, for every pair (V, W), all cliques on the unique path from V to W contain V union W or, equivalently, a maximal spanning tree of maximal cliques of a triangulated graph.

Answer: junction tree property

5. For ten points each, name these stories from James Joyce's Dubliners.

1. The Reverend James Flynn, not quite right in the head, dies after a third stroke. The title characters of this first story of the collection are Eliza and Nannie Flynn.

Answer: “The Sisters”

2. Mr. Alleyne fires Farrington, who gets drunk that night, loses an arm-wrestling contest, then goes home and beats his son Tom.

Answer: “Counterparts”

3. In this final story of the collection, Gabriel Conroy makes a speech at the annual dance of his aunts, Kate and Julia Morkan. Later, he thinks about the snow falling on the hill where Michael Furey is buried.

Answer: “The Dead”

6. Name these Italian ruling family for ten points each.

1. Gian Gastone ended the line and Piero I the Gouty was the second ruler of this line, but the family is more famous for producing Pope Clement VII and two French queens.

Answer: Medici
2. This line was most famous for ruling cities like Modena and Ferrara, and it is as dukes of Modena that they endured into the nineteenth century.

Answer: D’Este
3. Ruling Milan from 1312 to 1327 and again from 1329-1447, these predecessors of the Sforzas were founded by Matteo I.

Answer: Visconti
7. Answer the following about extracellular structures for ten points each.

1. In multicellular animals, the extracellular matrix is made up primarily of this protein, the most abundant protein in mammals.

Answer: collagen
2. This membrane forms the “bed” upon which epithelial cells lie, helping to filter materials that pass blood and urine, and facilitating cell migration during tissue regeneration.

Answer: basal lamina
3. This complex of polysaccharides may be attached to hundreds of strings of proteins, all of which are attached to a polysaccharide back bone, make up the basal lamina.

Answer: proteoglycan
8. Name these numbered groups from mythology and religion, but not philosophy FTSNOP.

1. (5 points) Appearing in the sixth chapter of the Book of Revelation, they symbolize conquest, violence or war, poverty or famine, and death. Their steeds are white, red, black, and pale.

Answer: The Four Horsemen of the Apocalypse
2. (10 points) In Taoist tradition, they were ordinary mortals whose good works impressed the Queen Mother Wang, who gave them the peaches of everlasting life to eat.

Answer: The Eight Immortals (accept Pa Hsien)

3. (15 points) This group's members were Atum or Ra, Shu, Tefnut, Geb, Nut, Osiris, Set, Isis, and Nephthys.

Answer: The Ennead of Heliopolis
9. Identify these things designed to guarantee fair elections for ten points each.

1. This constitutional amendment prohibits the denial of the right to vote on the basis of race.

Answer: Fifteenth Amendment

2. This act of congress requires certain states to submit proposed changes in voting laws to the Attorney General or a federal court for pre-clearance.

Answer: Voting Rights Act of 1965

3. This Supreme Court decision followed up Baker v. Carr and established the one man, one vote principle for legislative districts.

Answer: Reynolds v. Sims
10. Related works of literature, FTSNOP.

1. (15 points) This T. S. Eliot poem begins, "Here I am, an old man in a dry month, / Being read to by a boy, waiting for rain."

Answer: “Gerontion”

2. (10 points) The epigraph to Gerontion, "Thou hast nor youth nor age / But as it were an after dinner sleep / Dreaming of both." comes from this Shakespeare play, in which the deputy Angelo offers to save Isabella's brother Claudio if Isabella will sleep with him.

Answer: Measure for Measure
3. (5 points) Eliot once proposed using Gerontion as a prologue to this poem, which begins, "April is the cruellest month."

Answer: “The Waste Land”
11. Identify these people who wear band-aids FTPE.

1. This former Nebraska defensive lineman has accumulated over 100 sacks for the Chiefs, Broncos and Chargers while wearing a band-aid.

Answer: Neil Smith
2. This “artist” of “Thicky Thick Girl” and Country Grammar wears a band aid on his left cheek.

Answer: Nelly

3. This Oakland wide receiver began wearing breathe-right strips on his nose in 1994 and now endorses the product.

Answer: Jerry Rice
12. Answer the following questions on works of literature that end in suicide, FTSNOP.

1. (10 points) The title character of this poem "was rich,—yes, richer than a king,—/And admirably schooled in every grace," but "one calm summer night,/[he] Went home and put a bullet through his head."

Answer: “Richard Cory”
2. (10 points) In this story, Seymour Glass takes Sybil Carpenter out on a float, then returns to his hotel room and shoots himself in the head.

Answer: “A Perfect Day for Banana Fish”
3. (5 points each) Name the authors of "Richard Cory" and "A Perfect Day for Banana Fish” respectively.

Answer: Edwin Arlington Robinson and Jerome David Salinger

13. Identify these land acquisitions from American history 5-10-15.

1. (5 points) Now celebrating its 200th anniversary, it was supposed to be limited to the city of New Orleans but wound up covering 828,000 square miles.

Answer: Louisiana Purchase
2. (10 points) Purchased for a projected southern route for railroads to the Pacific Ocean, this area was acquired from Mexico for ten millions of dollars.

Answer: Gadsden Purchase
3. (15 points)  The Treaty of Paris of 1898 gave the United States four territories:  Puerto Rico, Guam, the Philippines, and this atoll.

Answer: Wake Island
14. Identify each of the following works of Fryderyk Chopin for ten points each.

1. Chopin’s Opus 66, it is the last of four works he wrote in the namesake genre. The work is, structurally, in ABA with an unexpected variation in the coda.


Answer: Fantasy-Impromptu for piano in C sharp minor, Op. 66, CT. 46

2. Published in 1839 after a fling with George Sand, this collection of 24 of the namesake type of piano pieces move up the circle of fifths from C major to D minor.


Answer: Preludes (24) for piano, Op. 28, CT. 166-189

3. Chopin’s Opus 22 consists of an Andante spianato added to this work, which the composer wrote in Vienna from 1830-1831.


Answer:  Grand Polonaise
15. Nonstandard amino acids from descriptions, FTPE.

1.  Start codons in prokaryotes code not for methionine, but rather this derivative.

Answer: N-formylmethionine or fMet

2. Most of the time, UGA codes for a stop codon, but sometimes it is directed to code for this derivative of cysteine containing element 34.

Answer: selenocysteine
3.  This posttranslational modification of an amino acid already so odd that it’s really an imino acid is abundant in collagen.  Its production requires vitamin C—a deficiency leads to scurvy.

Answer: hydroxyproline or HyP

16. Answer the following on important texts of Indian religions, 5-10-15.

1. (5 points) The Adi Granth or Guru Granth Sahib is the central text of this religion founded by Guru Nanak.

Answer: Sikhism

2. (10 points) The 18 major ones are collections of stories about the gods that emphasize bhakti and dharma.  Their titles include the Brahma, Skanda, Shiva, and Vishnu variety.

Answer: Puranas
3. (15 points) This set of 14 ancient Jainist texts, the precursors to the Agama, has mostly disappeared.

Answer: Purvas
17. Answer the following about ancient North African rulers, FTPE.

1. This ruler of Numidia assisted the Romans in the 2nd Punic War and provided the cassus belli for the 3rd Punic War when Carthage attacked him.

Answer: Masinissa
2. Masinissa’s grandson, this Numidian destroyed all of his rivals but provoked a war with Rome that saw his father-in-law’s betrayal and his eventual defeat by Marius. This war was famously portrayed by Sallust.

Answer: Jugurtha
3. The grandson of Marcus Antonius and Cleopatra VII and son of Juba II and Cleopatra Selene, he was the final king of Mauritania.

Answer: Ptolemy (no prompt necessary; he’s just Ptolemy, King of Mauritania)

18. Answer the following on colloids FTPE.

1. This effect describes the scattering of light passing through a colloid.

Answer: Tyndall effect

2. Colloids can be classified by whether they attract or repel solvent molecules. FTP, give the name given for either class of colloid.

Answer: lyophilic or lyophobic
3. This type of colloid, related to gels, consists of a solid dispersed in a solid or a liquid. The metal ones are lyophobic.

Answer: sol

19. And now, a bonus on something with which most quizbowlers ought to be acquainted, Love’s Labours Lost.

1. (5 points) Name any three of the four major male suitors from Shakespeare’s play.

Answers: Ferdinand, King of Navarre; Biron; Longaville; and Dumain (accept either name for Ferdinand, but consider only the first three answers given)

2. (5,5 points) Match any two suitors to his love interest.

Answers: Ferdinand courts the Princess of France; Biron courts Rosaline; Dumain courts Katherine; Longaville courts Maria (consider only the first two pairs given)

3. (15 points) Really labor and match any of the play’s minor characters to the notable that he attempts to portray in act V, scene II.

Answers: Costard, for Pompey; Holofernes for Judas Maccæbeus; Moth for Hercules; Armado for Hector
20. Name these deservedly lesser-known Norse gods who survive or return after the Ragnarok FTPE.

10) Vali was born to kill this blind god of darkness and winter, who will be reborn after the Ragnarok.

Answer: Hod or Hodr or Hoder or Hodur
10) This god of silence and revenge is the second-strongest of the Aesir. He will survive the Ragnarok, and according, to some stories, will wield the Thickmost Shoe.

Answer: Vidar or Vidarr

10) This long-legged god was sent to the Vanir as part of a truce; his indecisiveness resulted in the death of Mimir. He also will survive the Ragnarok.

Answer: Honir
